
Tuesday 9th February – Word Problems 

1. If Miss Lewis has 5 stickers but Miss Waterall has 3 times as 

many, how many stickers does Waterall have? Think about how 

you can use this bar model to help you.  

 

 

 

 

 

 

 

 

2. There are 15 children in school. Miss Smith puts the children into 5 

groups. How many children are in each group?  
 

 

 

 

3. Mrs White picks 5 flowers. Each flower has 4 petals. How many 

petals are there altogether?  

 

Miss Waterall  

 

 

 

Miss Lewis  

 

 

 



Tuesday 9th February – Word Problems 

4. Ms Munro has 6 10pence pieces in her pocket. She wants to give 

them all to Miss Hewkin. How much money will Miss Hewkin get?  

 

 

 

 

 

 

 

 


